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How Does a Hawaiian Baritone Laugh?

Simplify each expression below. Find your answer at the bottom of the page and cross out the letter above it.
When you finish, the answer to the title question will remain.

(@ -3x+ox ® -2y +7y+4 (19 9-3x—(-8y) + x —y
(@) 2y-10y (9) 5x+7 +x-9x X — 4y — 12 — 5y + 8y

(3 -6x+x —8y—2y—4+4y (7) 3x+7-7y+2x—-3y—1
@ 129y (1) 6x—(-3x) +x—-6 ~9X—y+ 145y +5x—10
(®) —4x-5x (2 ax+2y+ax-sy —X+8+6x—dy —8x+3
(®) 8 - (~8y) @3 ex+8y-3-7y a7 +y - 7x—(~3y)
(@) -x-(-10x) ~6X — 2y + 8 + 5x — 1 @) 8x—5y-x+9-y
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What Do You Call Two Railroad Trains
After a Head-on Collision ?

First, SIMPLIFY each expression below. Then EVALUATE the
expression if

a=3b=-2 andc=-6

Find the simplified expression in the answer column and notice  § Q 16b—-3c+5
the letter next to it. Find the value of the expression at the bottom
of the page and write this letter above it. @ c+26

) T @ 7a+3
(1) %a+3-2a (N) 18b-c+5
(@) 8-5b-1 (T) b-12c-6
(3) -4b-6+20b-3 (A) -5b+7
(@) 2-(-8¢c)+24-7c (A) -b+10¢c
(5) 5a—9b+a—6b W) 16b-9
(6) 3b+11c-4b—-c E) 9a-c+7
@ 9a-1+8c—8a+c “® —a—8b-5c
o 12c+5a+7+(—13c) + 4a @ —2a+2c+2
(9) -15-6c+3b—6c+9-2b (E) ea—-15b
{0 3a+7b+2c—a—4b {(S) b-10c+6
@1 -8a—b-(~6c)-2a—-b-5¢ © 2a+3b+2c
@ b—4c+3a—-c—-9b—-4a “© a+9c-1
(13 -3c+7a+5+17b+2c+b+(~7a) (H) —a—-10b-8c
@9 2-a~-(-b)+c+(-a)—b—(—c) @ -10a-2b+c
-58|-41|-16| 24 |-12| 43 | 48 [-52| 64 | 17 [-25|-32] 20 | 40

OBJECTIVE 3-b: To simplify and then evaluate expressions.
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